

Theorems in functional analysis

By Edvin Listo Zec Robin Andersson

Autumn 2015

Introduction

This text is written as an aid for those that are taking the course TMA401 Functional Analysis the year of 2015. It contains the recommended theorems and proofs from the year 2015, mainly from the lecture notes but also from the book Introduction to Hilbert spaces by Debnath and Mikusinski. If you find errors feel or misprints free to contact SNF.

Contents

1	Hölder's inequality	1
2	Theorem of completeness of a normed space	1
3	Banach-Steinhaus theorem	2
4	Banach fixed point theorem	4
5	Weakly convergent sequences in Hilbert spaces	5
6	Closest point property	6
7	Orthogonal projection theorem	7
8	Riesz representation theorem	8
9	Lax-Milgram Theorem	9
10	4.4.2: Properties of A^*	12
11	4.4.14: Norm of a self-adjoint operator	12
12	4.8.12: Uniformly convergent sequence of compact operators	13
13	4.8.12: Compact operators on weakly convergent sequences converges strongly	14
14	4.9.8: The operator $(A - \lambda I)^{-1}$ is bounded	14
15	4.9.12: Norm of operator equal to spectral radius of operator	15
16	4.9.16: Operator norm is an eigenvalue to itself	15
17	4.9.19: Set of eigenvalues of a compact self-adjoint operator	16
18	Hilbert-Schmidt theorem	16
19	Spectral theorem for compact self-adjoint operators	18
20	Existence of Green's function	18
21	Theorem of ON-basis and solution to an BVP	19
22	Fredholm alternative for self-adjoint compact operators	20

1 Hölder's inequality

Theorem 1.1. *Let $p, q > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$. If $(x_k) \in l^p$ and $(y_k) \in l^q$, then*

$$\sum_{k=1}^{\infty} |x_k y_k| \leq \left(\sum_{k=1}^{\infty} |x_k|^p \right)^{\frac{1}{p}} \left(\sum_{k=1}^{\infty} |y_k|^q \right)^{\frac{1}{q}}.$$

Proof. Without loss of generality we assume that $\sum_{k=1}^{\infty} |x_k| \neq 0$ and $\sum_{k=1}^{\infty} |y_k| \neq 0$. Consider

$$x^{\frac{1}{p}} \leq \frac{1}{p}x + \frac{1}{q}, \quad 0 \leq x \leq 1.$$

Now, let a and b be non-negative numbers such that $a^p \leq b^q$. Then $0 \leq a^p/b^q \leq 1$, hence

$$ab^{-\frac{q}{p}} \leq \frac{1}{p} \frac{a^p}{b^q} + \frac{1}{q}.$$

Also, since $-q/p = 1 - q$, and multiplying both sides with b^q we obtain

$$ab \leq \frac{a^p}{p} + \frac{b^q}{q}. \quad (1)$$

We have proved (1) assuming $a^p \leq b^q$. Similarly we see that (1) holds for $b^q \leq a^p$. Therefore it holds for any $a, b \geq 0$. Now let

$$a = \frac{|x_j|}{\left(\sum_{k=1}^n |x_k|^p\right)^{\frac{1}{p}}}, \quad b = \frac{|y_j|}{\left(\sum_{k=1}^n |y_k|^q\right)^{\frac{1}{q}}}, \quad n \in \mathbb{N}.$$

Together with equation (1) we now obtain

$$\frac{|x_j|}{\left(\sum_{k=1}^n |x_k|^p\right)^{\frac{1}{p}}} \frac{|y_j|}{\left(\sum_{k=1}^n |y_k|^q\right)^{\frac{1}{q}}} \leq \frac{1}{p} \frac{|x_j|^p}{\left(\sum_{k=1}^n |x_k|^p\right)} + \frac{1}{q} \frac{|y_j|^q}{\left(\sum_{k=1}^n |y_k|^q\right)},$$

for any $1 \leq j \leq n$. By adding these inequalities for $j = 1, \dots, n$, we get

$$\frac{\sum_{j=1}^n |x_j| |y_j|}{\left(\sum_{k=1}^n |x_k|^p\right)^{\frac{1}{p}} \left(\sum_{k=1}^n |y_k|^q\right)^{\frac{1}{q}}} \leq \frac{1}{p} + \frac{1}{q} = 1,$$

and letting $n \rightarrow \infty$, we get Hölder's inequality. \square

2 Theorem of completeness of a normed space

Theorem 2.1. *A normed space is complete if and only if every absolutely convergent series converges.*

Proof. [\Rightarrow] Let E be a Banach space and suppose $x_n \in E$ such that $\sum_{n=1}^{\infty} \|x_n\| < \infty$. We define

$$s_n = x_1 + \cdots + x_n, \quad n = 1, 2, \dots$$

We'll show that (s_n) is a Cauchy sequence. Let $\varepsilon > 0$ and k be a positive integer such that

$$\sum_{n=k+1}^{\infty} \|x_n\| < \varepsilon.$$

Then we have for every $m > n > k$ that

$$\|s_m - s_n\| = \|x_{n+1} + \cdots + x_m\| \leq \sum_{r=n+1}^{\infty} \|x_r\| < \varepsilon.$$

Thus (s_n) is a Cauchy sequence in E . E is complete, thus (s_n) converges in E and therefore $\sum_{n=1}^{\infty} x_n$ converges aswell.

[\Leftarrow] We will now prove the left implication. Assume that E is a normed space in which every absolutely convergent series converges. We want to prove that E is complete. Let (x_n) be a Cauchy sequence in E . Then, for every $k \in \mathbb{N} \exists p_k \in \mathbb{N}$:

$$\|x_m - x_n\| < \frac{1}{2^k}, \quad \forall m, n \geq p_k.$$

Without loss of generality we can assume that the sequence (p_n) is strictly increasing. Since $\sum_{k=1}^{\infty} (x_{p_{k+1}} - x_{p_k})$ is absolutely convergent, it is convergent. This means that

$$x_{p_k} = x_{p_1} + (x_{p_2} - x_{p_1}) + \cdots + (x_{p_k} - x_{p_{k-1}})$$

converges to an element $x \in E$. Thus

$$\|x_n - x\| \leq \|x_n - x_{p_n}\| + \|x_{p_n} - x\| \rightarrow 0,$$

since (x_n) is a Cauchy sequence. This completes the proof. \square

3 Banach-Steinhaus theorem

Theorem 3.1 (Banach-Steinhaus theorem). *Assume that $(E_1, \|\cdot\|_1)$ is a Banach space and $(E_2, \|\cdot\|_2)$ a normed space. Let \mathcal{F} be a family of bounded linear mappings $\mathcal{F} \subset B(E_1, E_2)$ where $\sup_{T \in \mathcal{F}} \|T(x)\|_2 < \infty$ for all $x \in E_1$, then*

$$\sup_{T \in \mathcal{F}} \|T\| < \infty. \quad (2)$$

Proof. We prove this theorem by dividing the proof into two steps.

Step 1: Assume

$$\exists x_0 \in E_1, \exists r > 0, \exists M > 0 \forall x \in \overline{B(x_0, r)} \forall T \in \mathcal{F} : \|T(x)\|_2 \leq M. \quad (3)$$

We note that $\|T(\underbrace{x_0 + x}_{\in B(x_0, r)})\|_2 \leq M$ for $\|x\|_1 \leq r$. Further, for $\|x\|_1 \leq r$, and using the fact that T is linear, we get

$$\begin{aligned} \|T(x)\|_2 &= \|T(x_0 + x - x_0)\|_2 = \|T(x_0 + x) - T(x_0)\|_2 \leq \\ &\leq \|T(\underbrace{x_0 + x}_{\in B(x_0, r)})\|_2 + \|T(\underbrace{x_0}_{\in B(x_0, r)})\|_2 \leq 2M. \end{aligned}$$

For $\mathbf{0} \neq x \in E_1$, then

$$\|T\left(\frac{r}{\|x\|_1}x\right)\|_2 \leq 2M \Leftrightarrow \frac{r}{\|x\|_1}\|T(x)\|_2 \leq 2M,$$

since T is linear. Thus

$$\|T(x)\|_2 \leq \underbrace{\frac{2M}{r}}_{\geq \|T\|} \|x\|_1 \quad \forall T \in \mathcal{F} \quad \forall x \in E_1.$$

So,

$$\sup_{T \in \mathcal{F}} \|T\| \leq \frac{2M}{r} < \infty.$$

Step 2: Now we justify our assumption in equation (3) above. Assume (3) is false, i.e.

$$\neg(\exists x_0 \in E_1 \exists r > 0 \exists M > 0 \forall x \in \overline{B(x_0, r)} \forall T \in \mathcal{F} : \|T(x)\|_2 \leq M).$$

That is,

$$\forall x_0 \in E_1 \forall r > 0 \forall M > 0 \exists x \in \overline{B(x_0, r)} \exists T \in \mathcal{F} : \|T(x)\|_2 > M. \quad (4)$$

Our main idea now is to find a sequence $(x_n)_{n=1}^\infty \in E_1$ such that $x_n \rightarrow x$ in E_1 , and a sequence $(T_n)_{n=1}^\infty \in \mathcal{F}$ (such that $\|T_n(x_n)\|_2 > n$ and also $\|T_n(x)\|_2 > n$), such that

$$\lim_{n \rightarrow \infty} \|T_n(x)\|_2 = \infty.$$

This would in turn contradict our hypothesis in equation (2), so the conclusion then is that (3) holds.

Now from (4), it follows that

$$\exists x_1 \in B(\mathbf{0}, 1) \text{ and } T_1 \in \mathcal{F} : \|T_1(x_1)\|_2 > 1.$$

T_1 is continuous, thus

$$\exists r_1 : 0 < r_1 < \frac{1}{2} : \|T_1(x)\|_2 > 1 \forall x \in \overline{B(x_1, r_1)} \subset B(\mathbf{0}, 1).$$

Again, from (4), it follows that

$$\exists x_2 \in B(x_1, r_1) \text{ and } T_2 \in \mathcal{F} : \|T_2(x_2)\|_2 > 2.$$

Furthermore, since T_2 is continuous this implies that

$$\exists r_2 : 0 < r_2 < \left(\frac{1}{2}\right)^2 : \|T_2(x)\|_2 > 2 \forall x \in \overline{B(x_2, r_2)} \subset B(x_1, r_1).$$

Proceed inductively, then we have for every positive integer n

$$\exists x_n \in B(x_{n-1}, r_{n-1}) \text{ and } T_n \in \mathcal{F} : \|T_n(x_n)\|_2 > n.$$

Again, since T_n is continuous, we have that

$$\exists r_n : 0 < r_n < \left(\frac{1}{2}\right)^n : \|T_n(x)\|_2 > n \forall x \in \overline{B(x_n, r_n)} \subset B(x_{n-1}, r_{n-1}).$$

Claim: $(x_n)_{n=1}^\infty$ is a Cauchy sequence in $(E_1, \|\cdot\|_1)$, since for any $n > m$,

$$\|x_n - x_m\|_1 < r_m < \left(\frac{1}{2}\right)^m \xrightarrow{m \rightarrow \infty} 0.$$

Recall that $(E_1, \|\cdot\|_1)$ is a Banach space. Hence $x_n \rightarrow x$ in E_1 for some $x \in E_1$. Here $x \in \overline{B(x_n, r_n)}$ and $\|T_n(x)\|_2 \geq n \forall n$. This implies that $\sup_n \|T_n(x)\|_2 = \infty$, in particular

$$\sup_{T \in \mathcal{F}} \|T(x)\|_2 = \infty,$$

which is a contradiction. Thus (3) is true and the proof is done. \square

4 Banach fixed point theorem

Definition 4.1. Let F be a closed subset of a Banach space X , and let T be an operator such that $T : F \rightarrow F$ in X . If for all $x, y \in F$ we have that $\|T(x) - T(y)\| \leq \theta \|x - y\|$ for $\theta < 1$, then we call T a **contraction**.

Theorem 4.1. Let $T : F \rightarrow F$ be a contraction on a closed set $F \subset X$, where X is a Banach space. Then T has a unique fixed point in F .

Proof. Take $x_0 \in F \subset X$ arbitrarily. Consider the successive approximations $x_{n+1} = T(x_n)$ for $\{x_n\}_{n=0}^\infty$. Then we have from the definition of a contraction that

$$\begin{aligned} \|x_{n+1} - x_n\| &= \|T(x_n) - T(x_{n-1})\| \leq \theta \|x_n - x_{n-1}\| = \theta \|T(x_{n-1}) - T(x_{n-2})\| \leq \\ &\leq \theta^2 \|x_{n-1} - x_{n-2}\| \leq \dots \leq \theta^n \|x_1 - x_0\|. \end{aligned}$$

We claim that $\{x_n\}_{n=0}^\infty$ is a Cauchy sequence in X . We prove this claim by taking $m > n$:

$$\begin{aligned} \|x_m - x_n\| &= \|x_m - \underbrace{x_{m-1} - x_{m-2} + x_{m-2} + x_{m-1}}_{=0} - x_n\| \leq \\ &\leq \|x_m - x_{m-1}\| + \cdots + \|x_{n+1} - x_n\| \leq \\ &\leq \theta^n(1 + \theta + \cdots + \theta^{m-n-1})\|x_1 - x_0\| \leq \\ &\leq \frac{\theta^n}{1 - \theta}\|x_1 - x_0\| \rightarrow 0, \text{ as } n \rightarrow \infty, \end{aligned}$$

since $\theta < 1$. Hence, $\{x_n\} \subset F$ is a Cauchy sequence and converges to some $\bar{x} \in F$, since F is a closed subset of a Banach space.

Hence, we have that

$$\|T(\bar{x}) - \bar{x}\| \rightarrow 0 \text{ as } n \rightarrow \infty \Rightarrow \|T(\bar{x}) - \bar{x}\| \equiv 0.$$

We have thus shown the existence of a fixed point. To show the uniqueness let $y = T(y), x = T(x)$ for $x, y \in F$ (different fixed points). Thus

$$\|x - y\| = \|T(x) - T(y)\| \leq \theta\|x - y\| \Rightarrow \|x - y\| = 0 \Rightarrow x = y,$$

which means that x and y are the same fixed points and thus the proof is complete. \square

Theorem 4.2. *Let T be a mapping on a Banach space X such that T^N is a contraction on X for some positive integer N . Then T has a unique fixed point.*

Note: it is not necessary to assume that T is continuous.

Proof. We use Banach's fixed point theorem that implies that \exists a unique fixed point x_0 for T^N . Thus

$$\|T(x_0) - x_0\| = \|T^N(T(x_0)) - T^N(x_0)\| \leq c\|T(x_0) - x_0\|.$$

This implies that $T(x_0) = x_0$ since $0 < c < 1$. The uniqueness follows from the fact that a fixed point for T is also a fixed point for T^N . \square

5 Weakly convergent sequences in Hilbert spaces

Theorem 5.1. *Let $(E, \langle \cdot, \cdot \rangle)$ be a Hilbert space, and let (x_n) weakly converge to x , i.e. $x_n \xrightarrow{w} x$ in $(E, \langle \cdot, \cdot \rangle)$. Then*

$$\sup_n \|x_n\| < \infty.$$

Proof. To prove this theorem we want to use Banach-Steinhaus theorem. Let

$$f_n : E \rightarrow \mathbb{C}, \quad n \in \mathbb{N},$$

where $f_n(y) = \langle y, x_n \rangle$ for all $y \in E$. We begin by proving that f_n is a bounded linear mapping, and then that the supremum of $|f_n(y)|$ is finite. Linearity follows from

$$f_n(\alpha_1 y_1 + \alpha_2 y_2) = \langle \alpha_1 y_1 + \alpha_2 y_2, x_n \rangle = \alpha_1 \langle y_1, x_n \rangle + \alpha_2 \langle y_2, x_n \rangle,$$

for all $\alpha_1, \alpha_2 \in \mathbb{C}$ and all $y_1, y_2 \in E$. Also, f_n is a bounded linear mapping since

$$|f_n(y)| = |\langle y, x_n \rangle| \underbrace{\leq}_{\text{C.S.}} \|x_n\| \cdot \|y\| \quad \forall y \in E,$$

Hence f_n is bounded and $\|f_n\| \leq \|x_n\|$. But,

$$f_n(x_n) = \langle x_n, x_n \rangle = \|x_n\|^2 \Rightarrow \|f_n\| \geq \|x_n\|,$$

hence we conclude from the last two results that $\|f_n\| = \|x_n\|$.

Moreover, $(E, \|\cdot\|)$ is a Banach space since $(E, \langle \cdot, \cdot \rangle)$ is a Hilbert space. So, set $\mathcal{F} = \{f_n, n \in \mathbb{N}\} \subset \mathcal{B}(E, \mathbb{C})$. We claim that

$$\sup_n |f_n(y)| < \infty \quad \forall y \in E.$$

We see that

$$\sup_n |f_n(y)| = \sup_n |\langle y, x_n \rangle| < \infty,$$

since $\langle y, x_n \rangle \rightarrow \langle y, x \rangle$ in $(\mathbb{C}, |\cdot|)$, since $x_n \xrightarrow{w} x$ in $(E, \langle \cdot, \cdot \rangle)$.

Banach-Steinhaus theorem implies that $\sup_n \|f_n\| < \infty$ i.e. $\sup_n \|x_n\| < \infty$. □

6 Closest point property

Theorem 6.1 (Closest point property). *Let $(E, \langle \cdot, \cdot \rangle)$ be a Hilbert space, and let $F \subset E$ be a closed and convex set. Then, for every $x \in E$*

$$\exists! y \in F : \|x - y\| \leq \|x - v\| \quad \forall v \in F.$$

Proof. Case 1: If $x \in F$ then $y = x$ and we are done.

Case 2: $x \notin F$. Set $d = \inf_{v \in F} \|x - v\|$, clearly $d > 0$ since F is closed. Now pick a sequence $(v_n)_{n=1}^{\infty} \in F : \|x - v_n\| \xrightarrow{n \rightarrow \infty} d$. We claim that $(v_n)_{n=1}^{\infty}$ is a Cauchy

sequence in $(E, \|\cdot\|)$. Note that $(E, \|\cdot\|)$ is a Banach space, thus $\|\cdot\|$ satisfies the parallelogram law, we have

$$\underbrace{\|v_n - v_m\|^2}_{=\|(x-v_n)-(x-v_m)\|^2} + \underbrace{\|(x-v_n) + (x-v_m)\|^2}_{=\|2(x-\frac{1}{2}(v_n+v_m))\|^2} = 2(\|x-v_n\|^2 + \|x-v_m\|^2).$$

So

$$0 \leq \|v_n - v_m\|^2 = 2(\underbrace{\|x-v_n\|^2}_{\xrightarrow{n \rightarrow \infty} d^2} + \underbrace{\|x-v_m\|^2}_{\xrightarrow{n \rightarrow \infty} d^2}) - 2^2 \underbrace{\|x - \frac{1}{2}(v_n + v_m)\|^2}_{\substack{\in F \text{ since } F \text{ convex} \\ \geq d^2 \text{ by def. of } d}} \xrightarrow{n, m \rightarrow \infty} 0. \quad (5)$$

Hence $\|v_n - v_m\| \rightarrow 0$ as $n, m \rightarrow \infty$. Now since $(E, \|\cdot\|)$ is a Hilbert space, $(v_n)_{n=1}^\infty$ converges in $(E, \|\cdot\|)$, let $y = \lim_{n \rightarrow \infty} v_n$. Remember that $v_n \in F \forall n$ and F is closed, which implies that $y \in F$. We have that

$$\|x - y\| = \|\lim_{n \rightarrow \infty} (x - v_n)\| = \lim_{n \rightarrow \infty} \|x - v_n\| = d.$$

Thus $\|x - y\| \leq \|x - v\|$ for all $v \in F$. We have now proved the existence and it remains to prove the uniqueness.

Assume $\|x - y\| = \|x - \tilde{y}\| = d$ where $y, \tilde{y} \in F$. Want to show that $y = \tilde{y}$. From the parallelogram law for $\|\cdot\|$ (see (5) above) we obtain

$$0 \leq \|y - \tilde{y}\|^2 = 2(\underbrace{\|x - y\|^2}_{=d^2} + \underbrace{\|x - \tilde{y}\|^2}_{=d^2}) - 4 \underbrace{\|x - \frac{1}{2}(y + \tilde{y})\|^2}_{\geq d^2} \Rightarrow \|y - \tilde{y}\| = 0.$$

□

7 Orthogonal projection theorem

Theorem 7.1. *Let $(E, \langle \cdot, \cdot \rangle)$ be a Hilbert space. Let S be a closed subspace in $(E, \|\cdot\|)$. Then it holds that $E = S \oplus S^\perp$, i.e. that*

$$\forall x \in E \exists! y \in S, z \in S^\perp : x = y + z.$$

Proof. We start by proving the existence. We note that S is closed and convex in E . Thus we apply the closest point property theorem. Fix $x \in E$. Then

$$\exists y \in S : \|x - y\| \leq \|x - v\| \quad \forall v \in S.$$

Now $x = \underbrace{y}_{\in S} + (x - y)$. We want to prove that $x - y \in S^\perp$, i.e. that $\langle x - y, v \rangle = 0$.

Fix $v \in S$. We make a proof by contradiction. Assume that $\langle x - y, v \rangle \neq 0$. We know that

$$\|x - y\|^2 \leq \|\underbrace{x - y + \alpha v}_{\in S}\|^2 \quad \forall \alpha \in \mathbb{C}.$$

So

$$\begin{aligned} \|x - y\|^2 &\leq \langle x - y + \alpha v, x - y + \alpha v \rangle = \|x - y\|^2 + \bar{\alpha} \langle x - y, v \rangle + \alpha \langle v, x - y \rangle + \alpha \bar{\alpha} \|v\|^2 = \\ &= \|x - y\|^2 + 2 \operatorname{Re} (\bar{\alpha} \langle x - y, v \rangle) + |\alpha|^2 \|v\|^2, \end{aligned}$$

i.e.

$$0 \leq 2 \operatorname{Re} (\bar{\alpha} \langle x - y, v \rangle) + |\alpha|^2 \|v\|^2 \quad \forall \alpha \in \mathbb{C}.$$

Choose $\alpha = t e^{i \arg \langle x - y, v \rangle}$, $t \in \mathbb{R}$. Thus

$$0 \leq 2t |\langle x - y, v \rangle| + t^2 \|v\|^2.$$

Now set $r = -t$ and consider $r > 0$.

$$2r |\langle x - y, v \rangle| \leq r^2 \|v\|^2 \Rightarrow 2 |\langle x - y, v \rangle| \leq r \|v\|^2 \xrightarrow{r \rightarrow 0} 0.$$

Thus $|\langle x - y, v \rangle| = 0$, $\forall v \in S$, which contradicts the first assumption. So $x - y \in S^\perp$, which proves the existence, now we prove the uniqueness.

Uniqueness

Fix $x \in E$, assume that $x = y_1 + z_1 = y_2 + z_2$, where $y_1, y_2 \in S$ and $z_1, z_2 \in S^\perp$. We get that

$$\underbrace{y_1 - y_2}_{\in S} = \underbrace{z_2 - z_1}_{\in S^\perp} \therefore \langle y_1 - y_2, z_2 - z_1 \rangle = 0,$$

but we also know that

$$\langle y_1 - y_2, z_2 - z_1 \rangle = \|y_1 - y_2\|^2 = 0 \therefore y_1 = y_2 \Rightarrow z_1 = z_2,$$

so uniqueness is proven. □

8 Riesz representation theorem

Theorem 8.1. *Let $(E, \langle \cdot, \cdot \rangle)$ be a Hilbert space and let $f : E \rightarrow \mathbb{C}$ be linear and bounded. Then*

$$\exists! x_f \in E : f(x) = \langle x, x_f \rangle \quad \forall x \in E.$$

Moreover, $\|f\|_{E \rightarrow \mathbb{C}} = \|x_f\|$.

Proof. We start with existence. If $f(x) = 0 \quad \forall x \in E$, then $x_f = 0$. Assume $0 \neq f \in \mathcal{B}(E, \mathbb{C})$ and let $M = \{x \in E : f(x) = 0\}$. We claim that M is a closed subspace of $(E, \|\cdot\|)$.

We have that $M \subset E$ since, for $x_1, x_2 \in M$ and $\alpha_1, \alpha_2 \in \mathbb{C}$ it holds that due to linearity of f

$$f(\alpha_1 x_1 + \alpha_2 x_2) = \alpha_1 \underbrace{f(x_1)}_{=0} + \alpha_2 \underbrace{f(x_2)}_{=0} = 0,$$

thus $\alpha_1 x_1 + \alpha_2 x_2 \in M$.

M is closed: $M \ni x_n \rightarrow x$ in $(E, \|\cdot\|)$. We have that $f \in \mathcal{B}(E, \mathbb{C})$ so $f : E \rightarrow \mathbb{C}$ is continuous, which gives us that

$$0 = f(x_n) \rightarrow f(x) \quad \text{in } (\mathbb{C}, |\cdot|)$$

Thus $f(x) = 0$, i.e. $x \in M$. So, M is a closed subspace of a Hilbert space E . The orthogonal projection theorem then says that $E = M \oplus M^\perp$. From assumption $f \neq 0$ so $E \neq M$.

Pick $z = M^\perp \setminus \{0\}$ and consider $f(z)x - f(x)z$ for $x \in E$. Note that

$$f(f(z)x - f(x)z) = f(z)f(x) - f(x)f(z) = 0.$$

So $f(z)x - f(x)z \in M \forall x \in E$. Thus

$$\underbrace{\langle f(z)x - f(x)z, \underbrace{z}_{\in M^\perp} \rangle}_{\in M} = 0,$$

which gives us $f(z)\langle x, z \rangle = f(x)\underbrace{\langle z, z \rangle}_{=\|z\|^2 > 0}$. So

$$f(x) = \langle x, \frac{\overline{f(z)}}{\|z\|^2} z \rangle \quad \forall x \in E.$$

Now set $x_f = \frac{\overline{f(z)}}{\|z\|^2} z \in E$ and we are done.

We now prove the uniqueness. Assume $f(x) = \langle x, x_f \rangle = \langle x, \tilde{x}_f \rangle$. Then $\langle x, x_f - \tilde{x}_f \rangle = 0 \forall x \in E$. Choose $x = x_f - \tilde{x}_f$. Then $\|x_f - \tilde{x}_f\|^2 = 0$, i.e. $x_f = \tilde{x}_f$. The proof is done. \square

9 Lax-Milgram Theorem

1. Bilinear: $\varphi(u, v)$ satisfies the same properties as scalar products, however it does not need to be symmetric.
2. Bounded: $|\varphi(u, v)| \leq \beta \|u\| \|v\|$, $\beta > 0$ constant.
3. Coercive (elliptic): $\varphi(v, v) \geq \alpha \|v\|^2$, $\alpha > 0$ constant.

Theorem 9.1. *Let $(E, \langle \cdot, \cdot \rangle)$ be a Hilbert space. Also, let $\phi : E \times E \rightarrow \mathbb{C}$ be a bilinear, bounded and coercive functional, and let $f : E \rightarrow \mathbb{C}$ be a bounded linear functional. Then*

$$\exists! \tilde{x}_f \in E : f(x) = \phi(x, \tilde{x}_f) \forall x \in E.$$

Proof. We divide this proof into three steps, where

- Step 1: $\phi(x, y) = \langle x, A(y) \rangle \quad \forall x, y \in E$ for some $A \in \mathcal{B}(E, E)$.
- Step 2: A is one-to-one and onto.
- Step 3: $f(x) \stackrel{\text{Riesz}}{=} \langle x, x_f \rangle = \{A(\tilde{x}_f) = x_f\} = \phi(x, \tilde{x}_f) \quad \forall x \in E$.

Step 1

Fix $y \in E$, then $E \ni x \xrightarrow{y_\phi} \phi(x, y) \in \mathbb{C}$. We claim that $y_\phi : E \rightarrow \mathbb{C}$ is a bounded linear mapping.

Linearity follows since: $y_\phi(\alpha x + \beta z) = \phi(\alpha x + \beta z, y) = \alpha \phi(x, y) + \beta \phi(z, y) = \alpha y_\phi(x) + \beta y_\phi(z)$ for all scalars α, β and all $x, z \in E$ since ϕ is bilinear.

Boundedness follows since: $|y_\phi(x)| = |\phi(x, y)| \leq M \|x\| \|y\|$ for some $M > 0$, since ϕ is bounded.

Therefore, by Riesz representation theorem

$$\exists! A(y) \in E : y_\phi(x) = \langle x, A(y) \rangle \forall x \in E.$$

Thus, we have that $A : E \rightarrow E$.

A is

- linear, since

$$\begin{aligned} \langle x, A(\alpha y + \beta z) \rangle &= \phi(x, \alpha y + \beta z) = \bar{\alpha} \phi(x, y) + \bar{\beta} \phi(x, z) = \\ &= \bar{\alpha} \langle x, A(y) \rangle + \bar{\beta} \langle x, A(z) \rangle = \langle x, \alpha A(y) \rangle + \langle x, \beta A(z) \rangle \forall \alpha, \beta \in \mathbb{C} \forall x, y, z \in E. \end{aligned}$$

Move the RHS to the LHS. Hence we obtain $\langle x, A(\alpha y + \beta z) - \alpha A(y) - \beta A(z) \rangle = 0$. Pick $x = A(\alpha y + \beta z) - \alpha A(y) - \beta A(z)$ and thus we conclude that A is linear.

- bounded, since $|\langle x, A(y) \rangle| = |\phi(x, y)| \leq M \|x\| \|y\|$ for all $x, y \in E$. Choose $x = A(y)$, then

$$|\langle A(y), A(y) \rangle| = \|A(y)\|^2 \leq M \|A(y)\| \|y\| \Rightarrow \|A(y)\| \leq M \|y\| \forall y \in E,$$

thus A is bounded, so A is a bounded linear mapping.

Step 2:

We begin by proving that A is one-to-one i.e. if $A(x_1) = A(x_2)$ then $x_1 = x_2$. Note that $A(x_1 - x_2) = 0$ and thus

$$\|x_1 - x_2\| \leq \frac{1}{K} \|A(x_1 - x_2)\| = 0,$$

since ϕ is coercive. Hence $x_1 = x_2$ and A is therefore one-to-one.

Now we prove that A is onto. Denote the range of A by $\mathcal{R}(A) = \{A(x) : x \in E\}$, to prove the onto-ness we show that $\mathcal{R}(A)$ is a closed subspace of E , and then that $\mathcal{R}(A) = E$.

Pick $y_1, y_2 \in \mathcal{R}(A)$ and $\alpha_1, \alpha_2 \in \mathbb{C}$. Since $y_1 \in \mathcal{R}(A)$ there exists $x_1 \in E : y_1 = A(x_1)$, same follows for y_2 . Consider $\alpha_1 y_1 + \alpha_2 y_2$, using that A is linear we obtain

$$\alpha_1 y_1 + \alpha_2 y_2 = \alpha_1 A(x_1) + \alpha_2 A(x_2) = A(\alpha_1 x_1 + \alpha_2 x_2) \in \mathcal{R}(A),$$

hence $\mathcal{R}(A) \subset E$.

Now we prove that $\mathcal{R}(A)$ is closed. Pick a sequence $\mathcal{R}(A) \ni y_n \rightarrow y$ in E . We want to prove that $y \in \mathcal{R}(A)$. Pick $(x_n)_{n=1}^{\infty} : A(x_n) = y_n$ where $n \in \mathbb{N}$. Now we consider $\|x_n - x_m\|$, since ϕ is coercive, we know that $\|x\| \leq \|A(x)\|/K$, hence

$$\|x_n - x_m\| \leq \frac{1}{K} \|A(x_n - x_m)\| = \frac{1}{K} \|A(x_n) - A(x_m)\| = \frac{1}{K} \|y_n - y_m\| \xrightarrow{n, m \rightarrow \infty} 0,$$

since $y_n \rightarrow y$. Therefore, $(x_n)_{n=1}^{\infty}$ is a Cauchy sequence in E with the norm inherited from the inner product. Further, $(E, \|\cdot\|)$ is a Banach space, so $(x_n)_{n=1}^{\infty}$ converges, let $x_n \rightarrow x$. We have $A \in \mathcal{B}(E, E)$, so A is continuous, thus $A(x_n) \rightarrow A(x)$ in E . Recall that $A(x_n) = y_n \rightarrow y$ in E , thus $A(x) = y \in \mathcal{R}(A)$ and $\mathcal{R}(A)$ is closed.

Now it remains to prove that $\mathcal{R}(A) = E$. Assume $\mathcal{R}(A) \neq E$. Then by the orthogonal projection theorem, we can, since $\mathcal{R}(A) \subset E$ is closed, write E as $E = \mathcal{R}(A) \oplus \mathcal{R}(A)^\perp$. Pick $z \in \mathcal{R}(A)^\perp \setminus \{\mathbf{0}\}$. This implies that $\langle z, A(x) \rangle = 0$ for all $x \in E$. In particular $\langle z, A(z) \rangle = 0$, however note that $\langle z, A(z) \rangle = \phi(z, z)$, which is a coercive functional, hence we conclude that z must be the zero-vector, which is contradicts our hypothesis that $\mathcal{R}(A) \neq E$, thus $\mathcal{R}(A) = E$. Therefore A is one-to-one and onto.

Step 3:

This step follows directly from what we stated in the beginning, i.e.

$$f(x) \stackrel{\text{Riesz}}{=} \langle x, x_f \rangle = \{A(\tilde{x}_f) = x_f\} = \phi(x, \tilde{x}_f) \forall x \in E.$$

□

10 4.4.2: Properties of A^*

Theorem 10.1. *The adjoint operator A^* of a bounded operator A is bounded. Moreover, we have $\|A\| = \|A^*\|$ and $\|A^*A\| = \|A\|^2$.*

Proof. The operator A^* is bounded since A and A^* define the same bilinear functional and is related as $\langle A(x), y \rangle = \langle x, A^*(y) \rangle$. Note that

$$|\langle x, A^*(y) \rangle| = |\langle A(x), y \rangle| \stackrel{\text{Cauchy-schwarz}}{\leq} \|A(x)\| \|y\| \leq \|A\| \|x\| \|y\|.$$

Now we use our human rights and choose $x = A^*(y)$, thus

$$\|A^*(y)\|^2 \leq \|A\| \|A^*(y)\| \|y\| \Rightarrow \|A^*\| \leq \|A\|.$$

Also

$$\langle A(x), y \rangle = \langle x, A^*(y) \rangle = \overline{\langle A^*(y), x \rangle} = \overline{\langle y, (A^*)^*(x) \rangle} = \langle (A^*)^*(x), y \rangle \Rightarrow A = (A^*)^*.$$

This implies

$$\|A\| = \|(A^*)^*\| \leq \|A^*\| \leq \|A\|,$$

hence the conclusion is that $\|A^*\| = \|A\|$. The remaining part of the theorem follows since both A^* and A are bounded operators, and using the fact that $\|A^*\| = \|A\|$, we obtain

$$\|A^*A\| \leq \|A^*\| \|A\| = \|A\|^2.$$

But, we also have

$$\|Ax\|^2 = \langle Ax, Ax \rangle = \langle A^*Ax, x \rangle \leq \|A^*Ax\| \|x\| \leq \|A^*A\| \|x\|^2,$$

thus $\|A^*A\| = \|A\|^2$. □

11 4.4.14: Norm of a self-adjoint operator

Theorem 11.1. *Let T be a self-adjoint operator on a Hilbert space H . Then*

$$\|T\| = \sup_{\|x\|=1} |\langle Tx, x \rangle|.$$

Proof. Let $M = \sup_{\|x\|=1} |\langle Tx, x \rangle|$. If $\|x\| = 1$ then

$$|\langle Tx, x \rangle| \leq \|Tx\| \|x\| = \|Tx\| \leq \|T\| \|x\| = \|T\|.$$

Thus $\|T\| \geq M$. Note that, for all $x, z \in H$ we have

$$\langle T(x+z), x+z \rangle - \langle T(x-z), x-z \rangle = 2(\langle Tx, z \rangle + \langle Tz, x \rangle) = 4 \operatorname{Re} \langle Tx, z \rangle.$$

By using the parallelogram law we obtain

$$\operatorname{Re}\langle Tx, z \rangle \leq \frac{M}{4}(\|x + z\|^2 + \|x - z\|^2) = \frac{M}{2}(\|x\|^2 + \|z\|^2). \quad (6)$$

Now assume $\|x\| = 1$ and $Tx \neq 0$. Set $z = Tx/\|Tx\|$, thus

$$\operatorname{Re}\langle Tx, z \rangle = \operatorname{Re}\left\langle Tx, \frac{Tx}{\|Tx\|} \right\rangle = \|Tx\|.$$

Using this z with the identity obtained in (6) we get

$$\operatorname{Re}\langle Tx, z \rangle \leq \frac{M}{2} \left(\|x\|^2 + \left\| \frac{Tx}{\|Tx\|} \right\|^2 \right) = M,$$

hence $\|T\| \leq M$, and from before $\|T\| \geq M$ which implies $\|T\| = M$. \square

12 4.8.12: Uniformly convergent sequence of compact operators

Theorem 12.1. *The limit of a uniformly convergent sequence of compact operators is compact. In other words, if T_1, T_2, \dots are compact on a Hilbert space H and $\|T_n - T\| \rightarrow 0$ as $n \rightarrow \infty$, then*

T is compact.

Proof. Choose $(x_n)_{n=1}^\infty \in H$ bounded. T_1 is compact which implies that \exists a subsequence $x_{1,n}$ of x_n such that $(T_1 x_{1,n})$ converges. Similarly $(T_2 x_{1,n})$ has a convergent subsequence $(T_2 x_{2,n})$.

In general, for $k \geq 2$: let $(x_{k,n})$ be a subsequence of $(x_{k-1,n})$ such that $(T_k x_{k,n})$ is convergent. Consider $(x_{n,n})$ as a subsequence of (x_n) . Then $x_{p_n} = x_{n,n}$ where p_n is an increasing sequence of positive integers. Thus $(T_k x_{p_n})$ converges $\forall k \in \mathbb{N}$.

We will now show that (Tx_{p_n}) converges. Let $\varepsilon > 0$. We have that

$$\|T_n - T\| \rightarrow 0, n \rightarrow \infty \Rightarrow \exists k \in \mathbb{N} : \|T_k - T\| < \frac{\varepsilon}{3M},$$

for $\|x_n\| \leq M \forall n \in \mathbb{N}$. Thus

$$\|T_k x_{p_n} - T_k x_{p_m}\| < \frac{\varepsilon}{3} \forall n, m > k_1 \in \mathbb{N}.$$

This implies

$$\begin{aligned} \|Tx_{p_n} - Tx_{p_m}\| &\leq \|Tx_{p_n} - T_k x_{p_n}\| + \|T_k x_{p_n} - T_k x_{p_m}\| + \|T_k x_{p_m} - Tx_{p_m}\| < \\ &< \frac{\varepsilon}{3} + \frac{\varepsilon}{3} + \frac{\varepsilon}{3} = \varepsilon, \end{aligned}$$

for sufficiently large n and m . So (Tx_{p_n}) is a Cauchy sequence in H and thus convergent. \square

13 4.8.12: Compact operators on weakly convergent sequences converges strongly

Theorem 13.1. *An operator T on a Hilbert space H is compact if and only if it maps weakly convergent sequences into strongly convergent sequences. More precisely, T is compact if and only if $x_n \xrightarrow{w} x$ implies $Tx_n \rightarrow Tx$ for any $x_n, x \in H$.*

Proof. Coming soon. □

14 4.9.8: The operator $(A - \lambda\mathcal{I})^{-1}$ is bounded

Theorem 14.1. *If A is a bounded linear operator in a Banach space E and $\|A\| < |\lambda|$, then $A_\lambda = (A - \lambda\mathcal{I})^{-1}$ is a bounded operator. Also*

$$A_\lambda = -\sum_{n=0}^{\infty} \frac{A^n}{\lambda^{n+1}}, \quad \|A_\lambda\| \leq \frac{1}{|\lambda| - \|A\|}.$$

Proof. Since $\|A/\lambda\| < 1$ we have

$$\sum_{n=0}^{\infty} \left\| \frac{A^n}{\lambda^n} \right\| \leq \sum_{n=0}^{\infty} \left\| \frac{A}{\lambda} \right\|^n < \infty.$$

Hence, since $\mathcal{B}(E, E)$ is complete, there exists an operator $B \in \mathcal{B}(E, E)$ such that

$$B = \sum_{n=0}^{\infty} \frac{A^n}{\lambda^n}.$$

Also

$$\begin{aligned} (A - \lambda\mathcal{I})B &= (A - \lambda\mathcal{I}) \left(\sum_{n=0}^{\infty} \frac{A^n}{\lambda^n} \right) = \sum_{n=0}^{\infty} (A - \lambda\mathcal{I}) \frac{A^n}{\lambda^n} = \\ &= \sum_{n=0}^{\infty} \frac{A^{n+1} - \lambda A^n}{\lambda^n} = \lambda \sum_{n=0}^{\infty} \left(\frac{A^{n+1}}{\lambda^{n+1}} - \frac{A^n}{\lambda^n} \right) = -\lambda\mathcal{I}. \end{aligned}$$

In a similar way we obtain $B(A - \lambda\mathcal{I}) = -\lambda\mathcal{I}$. Thus

$$A_\lambda = (A - \lambda\mathcal{I})^{-1} = -\frac{B}{\lambda} = -\sum_{n=0}^{\infty} \frac{A^n}{\lambda^{n+1}}.$$

Finally

$$\|A_\lambda\| \leq \frac{1}{|\lambda|} \sum_{n=0}^{\infty} \left\| \frac{A}{\lambda} \right\|^n = \frac{1}{|\lambda|} \frac{1}{1 - \|A/\lambda\|} = \frac{1}{|\lambda| - \|A\|}.$$

□

15 4.9.12: Norm of operator equal to spectral radius of operator

Theorem 15.1. *If A is bounded self-adjoint operator on a Hilbert space H , then $r(A) = \|A\|$.*

Proof. Rule out the trivial case $A \neq 0$. Since A is a bounded operator we have $r(A) \leq \|A\|$. We want to prove that all eigenvalues of a bounded operator A lie in the closed disk of radius $\|A\|$ centered at the origin. Thus it suffices to show that there exists a $\lambda \in \sigma(A)$ such that $|\lambda| = \|A\|$. However that there exists a λ such that $|\lambda| = \|A\|$ follows directly since A is a bounded self-adjoint operator on H . However we need to show that $\lambda \in \sigma(A)$. Assume $\lambda \in \rho(A)$ and let $(x_n)_{n=1}^{\infty} \in H$ such that $\|x_n\| = 1$ $\langle Ax_n, x_n \rangle \rightarrow \lambda$. Then, using the fact that $Ax_n - \lambda x_n \rightarrow 0$, and the continuity of $(A - \lambda \mathcal{I})^{-1}$ we obtain

$$1 = \|x_n\| = \|(A - \lambda \mathcal{I})^{-1}(A - \lambda \mathcal{I})x_n\| \xrightarrow{n \rightarrow \infty} 0.$$

This is a contradiction, thus $\lambda \in \sigma(A)$. □

16 4.9.16: Operator norm is an eigenvalue to itself

Theorem 16.1. *If A is a compact, self-adjoint operator on a Hilbert space, then at least one of the numbers $\|A\|$ or $-\|A\|$ is an eigenvalue of A .*

Proof. Assume $A \neq 0$, since if this was the case the theorem is trivially true. However note that, since A is a self-adjoint operator on a Hilbert space, we have $\|A\| = \sup_{\|x\|=1} |\langle Ax, x \rangle|$. Thus, there exists a sequence $x_n \in H$ such that $\|x_n\| = 1$ and $|\langle Ax_n, x_n \rangle| \rightarrow \|A\|$, as n tends to infinity. Now, we may assume $|\lambda| = \|A\|$ and without loss of generality we assume $\langle Ax_n, x_n \rangle \rightarrow \lambda$. Hence for every $n \in \mathbb{N}$ the following holds,

$$\begin{aligned} \|Ax_n - \lambda x_n\|^2 &= \|Ax_n\|^2 - 2\lambda \langle Ax_n, x_n \rangle + \lambda^2 \|x_n\|^2 \leq \\ &\leq \|A\|^2 - 2\lambda \langle Ax_n, x_n \rangle + \lambda^2 = 2\lambda(\lambda - \langle Ax_n, x_n \rangle). \end{aligned}$$

from which we conclude $Ax_n - \lambda x_n \rightarrow 0$, as n tends to infinity. Using the fact that A is compact, there exists a subsequence x_{n_k} of x_n such that Ax_{n_k} converges. Furthermore since $A \neq 0$ it follows from $Ax_n - \lambda x_n \rightarrow 0$ that $x_{n_k} \rightarrow x$ for some $x \in H$. Note that $\|x\| = 1$ since $\|x_n\| = 1$, for all $n \in \mathbb{N}$. Therefore, from the continuity of A and from $Ax_n - \lambda x_n \rightarrow 0$ we obtain that $Ax = \lambda x$. □

17 4.9.19: Set of eigenvalues of a compact self-adjoint operator

Theorem 17.1. *The set of distinct eigenvalues (λ_n) of a compact self-adjoint operator is either finite or countable with $\lim_{n \rightarrow \infty} \lambda_n = 0$.*

Proof. Suppose A is a self-adjoint compact operator that has infinitely many distinct eigenvalues λ_n , $n \in \mathbb{N}$. Let u_n be an eigenvector corresponding to λ_n such that $\|u_n\| = 1$. Using the fact that eigenvectors corresponding to distinct eigenvalues of a self-adjoint operator on a Hilbert space are orthogonal, we conclude that (u_n) is an orthonormal sequence. Thus, it converges weakly to 0. Consequently, since $u_n \xrightarrow{w} 0$ the sequence (Au_n) converges strongly to 0 and hence

$$|\lambda_n| = \|\lambda_n u_n\| = \|Au_n\| \xrightarrow{n \rightarrow \infty} 0.$$

□

18 Hilbert-Schmidt theorem

Theorem 18.1. *Let $(H, \langle \cdot, \cdot \rangle)$ be a Hilbert space and $A \in \mathcal{B}(H, H)$ a self-adjoint and compact operator. Then there exists an ON-sequence of eigenvectors $(u_n)_{n=1}^N$ with corresponding non-zero eigenvalues $(\lambda_n)_{n=1}^N$ of A (N is either finite or infinite) such that every element $x \in H$ has a unique representation*

$$x = \sum_{n=1}^N \lambda_n \langle x, u_n \rangle u_n + v \quad \forall v \in \mathcal{N}(A).$$

The sequence of eigenvalues are such that $|\lambda_1| \geq |\lambda_2| \geq \dots \geq |\lambda_n| \geq \dots$ and if N is infinite then

$$\lim_{n \rightarrow \infty} \lambda_n = 0$$

Moreover $A(x) = \sum_{n=1}^N \lambda_n \langle x, u_n \rangle u_n$.

Proof. Assume $A \neq \mathbf{0}$. There exists an eigenvector $u_1 : \|u_1\| = 1$ corresponding to the eigenvalue λ_1 of A with $|\lambda_1| = \|A\|$ since A is compact and self-adjoint on H . Set $Q_1 = \{x \in H : x \perp u_1\} = \{u_1\}^\perp$, thus Q_1 is a closed subspace of H . Hence Q_1 is a Hilbert space with the same inner product. If $x \in Q_1$ then $Ax \in Q_1$ since

$$\langle Ax, u_1 \rangle = \langle x, Au_1 \rangle = \lambda_1 \langle x, u_1 \rangle = 0.$$

So $A|_{Q_1} : Q_1 \rightarrow Q_1$ is self-adjoint and compact. Assume $A|_{Q_1} \neq \mathbf{0}$. Then as above, there exists an eigenvector $u_2 : \|u_2\| = 1$ with corresponding λ_2 of $A|_{Q_1}$ such that $|\lambda_2| = \|A|_{Q_1}\| \leq \|A\|$. Set $Q_2 = \{u_1, u_2\}^\perp$, for same reason as before this is a Hilbert space. Pick $x \in Q_2$, thus $Ax \in Q_2$ since

$$\langle Ax, u_i \rangle = \dots = \lambda_i \langle x, u_i \rangle = 0.$$

Hence $A|_{Q_2} : Q_2 \rightarrow Q_2$ is also compact and self-adjoint. Repeatedly this argument holds giving eigenvalues $\lambda_1, \lambda_2, \dots, \lambda_N$.

Now consider the two cases where $N < \infty$ and the second case where N is infinite

Case 1:

There are eigenvectors u_1, \dots, u_N corresponding to non-zero eigenvalues $\lambda_1, \dots, \lambda_N$ where $(u_n)_{n=1}^N$ is an ON-sequence and $|\lambda_1| \geq |\lambda_2| \geq \dots \geq |\lambda_N| > 0$ and set

$$Q_N = \{u_1, \dots, u_N\}^\perp.$$

Then we have that $A|_{Q_N} = \mathbf{0}$, thus

$$x = \sum_{n=1}^N \lambda_n \langle x, u_n \rangle u_n + v, v \in \mathcal{N}(A) = Q_N.$$

Case 2:

There exists an ON-sequence $(u_n)_{n=1}^\infty$ of eigenvectors corresponding to the eigenvalues $(\lambda_n)_{n=1}^\infty$ of A where $|\lambda_1| \geq |\lambda_2| \geq \dots \geq |\lambda_n| \geq \dots > 0$ for all $n \in \mathbb{N}$. We claim that

$$\lim_{n \rightarrow \infty} \lambda_n = 0.$$

Note that since $(u_n)_{n=1}^\infty$ is an ON-sequence it converges weakly to zero in H . Furthermore, A is compact hence $Au_n \rightarrow A(\mathbf{0}) = \mathbf{0}$ in H , thus

$$|\lambda_n| = \|\lambda_n u_n\| = \|Au_n\| \xrightarrow{n \rightarrow \infty} 0 \therefore \lim_{n \rightarrow \infty} \lambda_n = 0.$$

Set $S = \overline{\text{Span}\{u_1, u_2, \dots\}} = \{\sum_{n=1}^\infty \alpha_n u_n : (\alpha_n)_{n=1}^\infty \in \ell^2\}$, note that S is a closed subspace of H . Pick $x \in H$, then

$$x = \underbrace{\sum_{n=1}^\infty \langle x, u_n \rangle u_n}_{\in S} + \underbrace{v}_{\in S^\perp}.$$

We want to show that $A(v) = 0$. For $v \neq 0$ let $w = \frac{v}{\|v\|}$ where $\|w\| = 1$, thus

$$\langle Av, v \rangle = \|v\|^2 \langle Aw, w \rangle,$$

Here $S^\perp \subset Q_n = \{u_1, \dots, u_n\}^\perp \forall n \in \mathbb{N}$, so

$$|\lambda_{n+1}| = \|A|_{Q_n}\| = \sup_{\substack{\|z\|=1 \\ z \in Q_n}} |\langle Az, z \rangle| \geq \frac{1}{\|v\|^2} \langle Av, v \rangle.$$

Let $n \rightarrow \infty$, which implies $\langle Av, v \rangle \rightarrow 0$ for all $v \in S^\perp$. Hence $\langle Av, v \rangle = 0$ for all $v \in S^\perp$, thus

$$\|A|_{S^\perp}\| = \sup_{\substack{\|v\|=1 \\ v \in S^\perp}} |\langle Av, v \rangle|$$

□

19 Spectral theorem for compact self-adjoint operators

Theorem 19.1. *Let $(H, \langle \cdot, \cdot \rangle)$ be a Hilbert space and let A be a compact, self-adjoint operator on H . Then H has a complete ON-system (ON-basis) (v_n) consisting of eigenvectors to A . Further*

$$Ax = \sum_{n=1}^{\infty} \lambda_n \langle x, v_n \rangle v_n \quad \forall x \in H, \lambda_n \text{ eigenvalue to } v_n. \quad (7)$$

Proof. From the Hilbert-Schmidt theorem, we have an ON-sequence of eigenvectors (u_n) with corresponding non-zero eigenvalues (λ_n) of A . We need to complement this system with an arbitrary orthonormal basis of $\mathcal{N}(A)$. The eigenvalues corresponding to the vectors that form $\mathcal{N}(A)$ are all zero. Since A is continuous, (7) holds. \square

20 Existence of Green's function

First we introduce some notations.

$$Lu = c_n u^{(n)} + \dots + c_0 u, \quad u \in C^n(I).$$

$$\mathcal{N}(L) = \{u \in C^n(I) : Lu = 0\}, \quad \mathcal{N}(L) \subset C^n(I) \text{ since } L \text{ linear.}$$

$$R_j u = \sum_{i=0}^{n-1} [a_{i,j} u^{(i)}(a) + \beta_{i,j} u^{(i)}(b)], \quad j = 1, \dots, n.$$

Theorem 20.1. *Let u_1, \dots, u_n be a basis for $\mathcal{N}(L)$ such that $\det(R_j u_k)_{1 \leq j, k \leq n} \neq 0$. Let $G = L_0^{-1}$. Then*

$$\exists! g(x, t) \text{ continuous, } (x, t) \in I \times I : (Gf)(x) = \int_I g(x, t) f(t) dt.$$

The function g is called Green's function and can be constructed as

1. Set $\tilde{e}(x, t) = \theta(x - t)e(x, t)$
2. Determine $b_1, \dots, b_n \in C(I)$ such that

$$g(x, t) = \tilde{e}(x, t) + \sum_{k=1}^n b_k(t) u_k(x)$$

satisfies

$$R(g(\cdot, t)) = 0, \quad a < t < b.$$

Proof. Set $e(x,t) = \sum_{k=1}^n a_k(t)u_k(x)$ where $a_1(t), \dots, a_n(t)$ are chosen such that

$$\begin{cases} e_x^k(t,t) = 0, k = 0, 1, \dots, n-2 \\ e_x^{n-1}(t,t) = \frac{1}{c_n}. \end{cases}$$

Let

$$\tilde{u}(x) = \int_I \tilde{e}(x,t)f(t) dt, \text{ i.e. } \tilde{u}(x) = \int_a^x e(x,t)f(t) dt.$$

Repeated differentiation gives

$$\begin{aligned} \tilde{u}'(x) &= \int_a^x e'_x(x,t)f(t) dt + \underbrace{e(x,x)}_{=0} f(x) \\ &\vdots \\ \tilde{u}^{n-1}(x) &= \int_a^x e_x^{n-1}(x,t)f(t) dt + \underbrace{e_x^{n-2}(x,x)}_{=0} f(x) \\ \tilde{u}^n(x) &= \int_a^x e_x^n(x,t)f(t) dt + \frac{1}{c_n(t)} f(x). \end{aligned}$$

This implies that $L\tilde{u} = f$. Further

$$u(x) = \int_I g(x,t)f(t) dt \text{ satisfies } Lu = f,$$

since

$$u(x) = \tilde{u}(x) + \sum_{k=1}^n u_k(x) \int_I b_k(t)f(t) dt.$$

Finally observe

$$Ru = \int_{a^+}^{b^-} \underbrace{R(g(\cdot, t))}_{=0} f(t) dt = 0$$

□

21 Theorem of ON-basis and solution to an BVP

Theorem 21.1. *Let L_0 be symmetric and a bijection. Let $(\mu_n)_{n=1}^\infty$ denote the eigenvalues for L_0 counted with multiplicity. Let $(e_n)_{n=1}^\infty$ be the corresponding sequence of orthonormal eigenfunctions. Then it holds that*

$$(e_n)_{n=1}^\infty \text{ ON-basis for } L^2(I)$$

and the equation

$$\begin{cases} Lu = f \\ Ru = 0 \end{cases}$$

for $f \in C(I)$ has solution

$$u = \sum_{n=1}^{\infty} \frac{1}{\mu_n} \langle f, e_n \rangle e_n \text{ in } L^2(I).$$

Proof. Define

$$(Gf)(x) = \int_a^b g(x,t)f(t) dt, \quad f \in C(I)$$

$$(\tilde{G}f)(x) = \int_a^b g(x,t)f(t) dt, \quad f \in L^2(I).$$

We know \tilde{G} is compact. L_0 symmetric and a bijection, thus 0 is not an eigenvalue for L_0 nor \tilde{G} . Hilbert-Schmidt theorem thus gives us that $(e_n)_{n=1}^{\infty}$ is a complete ON sequence for $L^2(I)$. So

$$f = \sum_{n=1}^{\infty} \langle f, e_n \rangle e_n \text{ in } L^2(I).$$

Thus f is an eigenfunction for L_0 corresponding to eigenvalue μ_n . Therefore f is an eigenfunction for \tilde{G} corresponding to $1/\mu_n$, i.e.

$$u = Gf = \tilde{G}f = \sum_{n=1}^{\infty} \langle f, e_n \rangle \tilde{G}e_n = \sum_{n=1}^{\infty} \frac{1}{\mu_n} \langle f, e_n \rangle e_n \text{ in } L^2(I).$$

□

22 Fredholm alternative for self-adjoint compact operators

Theorem 22.1. *Let A be a self-adjoint compact operator on a Hilbert space H . Then the nonhomogeneous operator equation*

$$f = Af + \varphi, \tag{8}$$

has a unique solution for every $\varphi \in H$ if and only if the homogeneous equation

$$g = Ag \tag{9}$$

has only the trivial solution $g = 0$. Moreover, if (8) has a solution, then $\langle \varphi, g \rangle = 0$ for every solution g of (9).

Proof. From spectral theorem for compact self-adjoint operators, H has an orthonormal basis (u_n) consisting of eigenvectors of A with corresponding eigenvalues λ_n . Let $\varphi = \sum_{n=1}^{\infty} c_n u_n$, we seek a solution of (8), in the form $f = \sum_{n=1}^{\infty} a_n u_n$. Hence we have

$$\sum_{n=1}^{\infty} a_n u_n = \sum_{n=1}^{\infty} a_n \lambda_n u_n + \sum_{n=1}^{\infty} c_n u_n \Rightarrow a_n = \frac{c_n}{1 - \lambda_n} \forall n \in \mathbb{N}.$$

Note that $\lambda = 1$ is not an eigenvalue if (9) has no nonzero solution, thus the expression for a_n is valid. Therefore, if (8) has a solution it must be unique and on the form

$$f = \sum_{n=1}^{\infty} \frac{c_n}{1 - \lambda_n} u_n. \quad (10)$$

To prove that (8) has a solution it suffices to show that (10) is always convergent. Since A compact and self-adjoint we have that $\lambda_n \rightarrow 0$ when $n \rightarrow \infty$. Thus

$$\exists M > 0 : \frac{1}{1 - \lambda_n} \leq M \forall n \in \mathbb{N}.$$

Therefore

$$\sum_{n=1}^{\infty} \left| \frac{c_n}{1 - \lambda_n} \right|^2 \leq M^2 \sum_{n=1}^{\infty} |c_n|^2 < \infty.$$

Hence (10) converges and its sum is a solution to (8).

Now assume (9) has a nontrivial solution g and f solves (8) then $f + cg$ is a solution to (8), hence there is infinitely many solutions.

Finally, assume f and g are solutions to (8) and (9) respectively. Then

$$\langle f, g \rangle = \langle Af, g \rangle + \langle \varphi, g \rangle = \langle f, Ag \rangle + \langle \varphi, g \rangle = \langle f, g \rangle + \langle \varphi, g \rangle.$$

This gives $\langle \varphi, g \rangle = 0$. □